®
at@S A www.atos.com Table K280-17/E

Mounting subplates type BA
single and modular

The subplates series BA have THE mounting surfaces conforming to ISO standards, and are available in a wide range of versions compatible with the
Atos of valvesrange. They are characterized by low pressure drops and are grouped into two basic families with different construction criteria:

o SINGLE: for direction, flow and pressure control valves; they are available in ISO size 06, 10, 16, 20, 25 and 32;

o MODULAR: for direction control valves; they are available in ISO size 06 and 10 and are suitable for multiple assemblies of subplate mounted valves
and modular elements series H (size 06) and K (size 10) connected in parallel.

Special subplates or manifolds for customized applications are available upon request.

E SINGLE STATION SUBPLATES

ISO 4401:2005 VERSIONS
Mounting surface: 4401-03-03-0-05 BA-202 BA-204 s _ _ _
- 5 r BA-202: basic version without ports X and Y;
& (\ oa P fj ports P, A, B, T (3/8”) on the base
m m n[n ol
n n N4 A N @ RN A g8 ® BA-204: basic version without ports X and Y;
'S\ oo LA Ik & ports P and T (3/8”) on the base; ports A and
— o — Lo . B (3/8”) on the side.
;L rocon o8 R §| s P s [ o] @ . o
| e % — = o es 56 BA-302: basic version without ports X and Y;
‘ 025 5'5 035 ports P, A, B, T (1/2") on the base
27
15| 1015 BA-302/Y: version dimensionally identical to
302 the corresponding basic version with the
405 S addition of X and Y ports (1/8") on the base

(see figure on the left).

The /Y version is always used for DHZO and
DLHZO valves when drain from port Y is requi-
red.

Matching valves

BA-***/Q: versions identical to the correspon-

R ding basic versions, but supplied with ports
DH-00 s P and T sealed.
DH-01 The /Q versions are used for type QV-06/*
DH-02 % P valves and are supplied with 4 M5x70 fixing
DH-04 %: ’&\‘m“ bolts.
DH-05 BA-302/Y N\ QJ § I BA-***/N: versions identical to the correspon-
DH-08 : T ,i{;iﬁt'“ ding basic versions, but supplied without
DH-09 ‘m_T fixing bolts for type QVZO-*-06 valves
DHI szs il o m g (already equipped with fixing bolts).
DHU 4.49—‘ X and Y ports are only present in the /Y ver-
BES S sions.
76
o
95
DLOH 12 Code Ports (GAS) @ Counterbore| Mass
S}/&/?g ABPT (X-Y) S [mm]R [mm]| [Kg]
RZGO m[ ! f 4 BA-202 | 3/8' | - - - 12
DHZO & % 2| Bolts supplied 4 M5x50 class 12.9 "
DLHZO Tightening torque = 8 Nm BA-204 38 - 255 | 165 1.8
QVHZO-*-06 055 (except versions /Q e /N) BA-302(Y)| 1/2' | (1/8)| 30 | 165/ 1.8
1SO 4401:2005 VERSIONS
Mounting surface: 4401-05-05-0-05 BA-308/Y BA-428/Y or
23 BA-308: basic version without ports X and Y;
; @% T ports P, A, B, T (1/2") on the base.
5) [ x E} L
A & 2 n | € L ~ | BA-428: basic version without ports X and Y;
8 Dy o8| 8 i Ay 2188 |ports P, A, B, T (3/4”) on the base.
S n N e 1 VAL E
3 °r 4 (%@x\ L ol IR AEIEN BA-434: basic version without ports X and Y;
ETAAT B TY ﬂ[ﬂﬁ o T al " = ports P and T (3/4") on the base; ports A and
n e EA s [z B (3/4”) on the side.
27.
. 52555 o [ e BA-***/Y: versions dimensionally analogous to
32| | % — 025 the corresponding basic versions with the
6.7 05 05 025 109 N_s addition of X and Y ports (1/4") on the base
P 2% 130 (see figure on the left).
——-1373 1505 The /Y versions are always used for valves
> type DKZO, DLKZO, DKI, DKU, DKO when
508 drainage from port Y is required.
54 o
62 | ° °

® P
BA-434/Y PR
S
N
Matching valves () 72 EIN
DK-11 N
Bﬁﬂz ésm_s X and Y ports are only present in the /Y ver-
DKU 02 peos N R sions.
DKO 150.5
DKA Code | Ports (GAS) @ CounterboreMass
BKa : ss ABPT (X-Y) |S [mm]|R [mm]| [Kg]
DKZO o AR A . BA-308 ()Y} 1/ | (1/4") | 30 | 215 | 25
DLKZO AR S P
365 sos f Bolts supplied 4 M6x40 class 12.9 BA-428 () 3/4" | (1/4) | 865 | 215 | 55
935 Tightening torque = 15 Nm BA-434 (V) 34" | (1/4) | 365 | 215 | 85

K280



1SO 4401:2005

Mounting surface: 4401-07-07-0-05

M6

wnl#

101.6

Matching valves:

BA-518

68.75
90

115
&
_.g
°
175 I
26|
623
725
90
120

125

125
W
&

2]

2105

BA-519

VERSIONS

BA-418: basic version with ports P, A, B, T
(3/4”) and X, Y (1/4”) on the base.

BA-518: basic version with ports P, A, B, T
(1”)and X, Y (1/4”) on the base.

BA-519: basic version with ports P, T (1”) and
X, Y (1/4”) on the base; ports A, B (1”) on the
side.

BA-***/DR: versions dimensionally analogous
to the corresponding basic versions with the
addition of drain port L (1/4”) on the base.
The /DR versions are used for type DP-2,
DPH-2 and DPH*-2 valves with hydraulic cen-
tering.

DP-21

DP-24

BE;—!Z—%8 The L port is only present in the /DR versions.

DPH-29

DPHI-2 Ports (GAS) @ Counterbore|Mass

BEneS et Code | 5 8P T XY(L)|S [mmi[R [mm] [Ka]
) raaYan\WH Bolts supplied :

Bm@/—% [ I\ \JBIE 4 M10x50 class 12.9 BA418(DR) 3/4' | 1/4' | 365 | 215 | 35
- : Tightening t =70N

DPZO-*-2 e I 2M6x40 lass 129 [BASIBDR) 1 |14 | 46 | 215 | 8

Tightening torque = 15 Nm BA519(DR) 1 14 % | 215 8
1SO 4401:2005 VERSIONS

Mounting surface: 4401-08-08-0-05 BA-508 BA-509
s #R oS BA-508: basic version with ports P, A, B, T
> 3 (17) and X, Y (1/4”) on the base.
NN x& _ e BA-509: basic version with ports P, T (1”) and
Qe T = v RI*E X, Y (1/4”) on the base, ports A, B (1) on the
NS # $ g g}@ii # side.
ik 30 af f 30 al ¥
——,'-91 e o Fa ¢ & BA-618: basic version with ports P, A, B, T (1
73 07 1/4”) and X, Y (1/4”) on the base.
101731 125 15?80 BA-***/DR: versions dimensionally analogous
0 205 to the corresponding basic versions with the
125 180 addition of drain port L (1/4”) on the base.
205 0s The /DR versions are used for type DP-3,
DPH-3 and DPH*-3 valves with hydraulic
centering.
‘ d I Al
g iR A
A B
73 ‘ i
2105 5 103
2R 'S
A o
BA-618 ps & fﬁa -
-618 | ©~ 47 &&JY oln
; AN\ W AL M
Matching valves: )
9 D @T\EéP TN«
DP-31 2] 8 q
DP-34 ‘570
DP-35 5
DPH-38 5 The L port is only present in the /DR versions.
DPH-39 170
BEEB:—SS g 1;:5 Code Ports (GAS) | Counterbore| Mass
DPHO-3 AB,PT X-Y(L)|S [mm];R [mm]| [Kg]
DPHA-3 I BA-508(DR) 1 1/4" 46 | 215 7
DPHW-3 3 ﬂ u / .
DPZO--3 L Bolts supplied 6 M12x50 class 12.9 [BA-509(DR) 1 14 46 | 215 | 125
213 || Tightening torque = 125 Nm [BA-618(/DR) 1 1/4" | 1/a" 57 | 215 | 135
1SO 4401:2005 VERSIONS
Mounting surface: 4401-10-09-0-05 BA-708
N o A& BA-708: basic version with ports P, A, B, T
> s O 0 Q‘} 3 { ¢ (11/2"yand X, Y (1/4”) on the base.
o AT - O i) o
Py 28] e - BA-708/DR: version dimensionally analogous
bk B A m|8|8 }o tht)e BA-708 with the addition of drain port L
A 8 < T 1/4”) on the base.
BYFah f\ fﬁ @ = The /DR version is used for type DP-6, DPH-6
& @ & &J &J X fp,l and DPH*-6 valves with hydraulic centering.
N\ B
[ ez ] d g
825 745
13 05
147.6 152
168.3 “55228
Matching valves: 205 266
DP-64 307
DP-65
DPH-68
DPH-69 R ) ) .
DPHI-6 R The L port is only present in the /DR version.
DPHU-6 o3|
Bgﬂg'g Code Ports (GAS) | Counterbore| Mass
DPHW—6 Bolts supplied 6 M20x80 class 12.9 AB.P.T| X-Y(L) |S [mm]|R [mm]| [Kg]
Tightening torque = 600 Nm BA-708(DR) 1 1/ | 14 | 635 | 215 | 17




Mounting surface Mounting surface os o1 en VERSIONS
- 1SO 6264-06-09-0-97
ISO 6264: 1998 BA-+06: basic version, see figure on left and

matching valves: @ & ! 3
AGAM-10 N dimensional tables.
AGMZO-+-10

g ol
| Mounting surface \EE T (] q
ISO 6264-08-13-0-97 o @ <
_J‘-"J matching valves: R
AGAM-20
AGMZ0O-+-20 c BA-*06

Mounting surface
1SO 6264-10-17-0-97

5 matching valves:
A AGAM-32
AGMZO-+-32

' N \[Jom
I

Bolts supplied for BA-306

n°4 M12x35 class 12.9 Tightening torque = 125 Nm
Bolts supplied for BA-406 and BA-506:

n°4 M16x50 class 12.9 Tightening torque = 300 Nm
Bolts supplied for BA-706

n°4 M20x60 class 12.9 Tightening torque = 600 Nm

@ Blade Ports (GAS) Mass
Code |a|b|c|d|e|f]|g]|h I |m SIRIT Code size P T X Kg]
ize |[A|B D|E|F|G
size c BA-306 (130 |104| 97 |645195| 27 | 54 | 80| 40 | 84 | 15 365|215 30 BA-306 | 10 | 1/2' | 3/4" | 14 | 15
10 |538|475(221|221| - (538|269 BA - 406 365(215(365 BA-406 | 20 3/4" | 3/4" 1/4" 35
180 | 150 |13325/92,25(37,25/37,5| 75 | 105| 50 |10,5| 13
20 |667|556(334|11,1{238| 70 | 35 BA - 506 4 |215| 4 BA-506| 20 | 1 | 1 | as
32 (889(762(445|127|318/826/413 BA -706 | 204 | 17517351235 435| 50 | 100{1305 60 [105| 13 |635|215|635 BA-706 | 32 |11/2"|11/2"| 1/4' 6
Mounting surface Mounting surface os R VERSIONS
1SO 5781: 2000 1SO 5781-06-07-0-00 > v@i & gA-*OS an(I:I Bbl‘\-705A:see figure on left and
matching valves: ~ imensional tables.
AGI*-10 ‘f N 1.
AGRL-10 B A 7
AGRLE-10 \N x@&J 4‘[
AGRZO-+-10 \'d | i
Mounting surface f
-08-10-0- e
IS(: 5:81 08| 10-0-00 S BA-305
matching valves: c N
AGI*-20 b BA-505
R BA-705
AGRL-20 a
AGRLE-20 BA-705A
AGRZO-+-20
Mounting surface c o
1SO 5781-10-13-0-00
matching valves: op
AGI*-32
AGRL-32
AGRLE-32
Bolts supplied for BA-305 and BA-505:
n° 4 M10x45 class 12.9 Tightening torque = 70 Nm
Bolts supplied for BA-705:
n° 6 M10x45 class 12.9 Tightening torque = 70 Nm
Bolts supplied for BA-705A:
n° 6 M10x100 class 12.9 Tightening torque = 70 Nm
. @ Blade Ports (GAS) Mass
Code |a|bfc|d|e|f|glh I'{m|{nip|qg S R Code size A 8 XY | [Kal
BA-305 |113|90 |67 |45 | 45|23 | 8 |333|58,7|66,7| 90 | 30 |105| 10 30| 215||BA-305| 10 12" 12" 1/4" 1
BA-505 | 133|110 |825|645(455(27,5| 64 |39,7| 73 |794|1025( 42 |105| 10 46| 215 || BA-505| 20 1" 1" 1/4" 2
BT | 184{ 60| 120| 95 | 65 | 40 | 6 [485] 91 | o7 [121] 60 [105| 13 | 635 215||BA-705| 32 | 112|112 14 | 75
VERSIONS
BA-325: special version with ISO 5781 size 10
¢s @S 2R ot mounting surface and incorporated check valve

for use with unloading valves type AGIU-10 in

Mounting surface \@X}/ ° circuits with accumulators.
ISO 5781-06-07-0-00 BA-425: special version with ISO 5781 size 20
matching valves: N N (@ ‘ |-le mounting surface and incorporated check valve
AGIU-10 N ¥ J . for use with unloading valves type AGIU-20 in
Mounti rf e;ﬂ'— 7,\7\@ Bl | | circuits with accumulators.
|s‘3"§7'3$_§'5_1%°.3_00 s f BA-625: special version with ISO 5781 size 32
A | matching valves: R . mounting surface and incorporated check valve
AGIU-20 e oR for use with unloading valves type AGIU-32 in
—B d circuits with accumulators.
[SCEN Mounting surface S .
= 1SO 5781-10-13-0-00 . BA-325/
D matching valves: BA-425/*
E AGIU-32 BA-625/*
F 2R
BLOCK DIAGRAM
X
Lol
Lo ] SO L .
1 1 | ;
@ X, A B Y,
x ]
Bolts supplied for BA-325 and BA-425: ,,\L"** ;
n°4 M10x45 class 12.9 Tightening torque = 70 Nm ‘g i
Bolts supplied for BA-625: ¥
n°6 M10x45 class 12.9 Tightening torque = 70 Nm LA 1 L . .
©XouT | A B Y
Note: the cracking pressure of the check valve (2 or 4 bar) b E
must be always indicated in the model code.
. . . Ports (GAS) Mass
size |[A|B|C|D|E|F|G|H|I|L|M[Code|a |b|c|d|e|f|lg|h|i|l|m|n|p|qg|w]|y|dSPRAT| Code |size A B |OUT| XY | [Kg]

10 | 7,1]214]21,4|318(357|429| - | 79 |333|58,7|66,7(BA-325| 150 | 124 102| 77 | 57 | 17 | 7,9 |33,358,7|66,7| 90 | 60 | 40 | 30 |10,5| 45 | 30 |215|36,5|BA-325| 10 | 1/2' | 3/4" | 1/2" | 1/4” 4

20 |11,1/206(307|44,5|492/603| - |64(397| 73 79‘4|BA-425 205 |177,6139,25112.8584,25(29,25| 4.2 |37,6/70,8( 75 [109| 90 | 66 | 45 |10,5| 75 | 46 |215| 46 |BA-425| 20 1" 1" 1" | 1/4" 1 105

32 |16,7|246596(62,7|675(84,1|42,1| 4 |484/929) 96‘8|BA-525 250 | 220 |182,7|145,61027( 22,7| 5,6 | 50 89,75 100 [135,5 120 | 52 | 80 |10,5(105|63,5/215|635 |BA-625| 32 |1 1/2'(11/2"|11/2"| 1/4" | 26

K280



Mounting surface
ISO 6263: 1999
(without port L)

Mounting surface
1SO 6263-06-05-0-97

Mounting surface
SO

Bolts supplied for BA-320:
n°4 M8x80 class 12.9
Tightening torque = 35 Nm
Bolts supplied for BA-520:
n°® 4 M10x80 class 12.9
Tightening torque = 70 Nm

VERSIONS

BA-320 and BA-520:
- - version without drain port L;
see the figure on the left and dimensional tables.

Bolts supplied for BA-322:
n° 4 M8x80 class 12.9
Tightening torque = 35 Nm
Bolts supplied for BA-522:
n° 4 M10x80 class 12.9

. . @ Blade . Ports (GAS) | Mass
|
size A|IC|D|E|F|G|H|L|M i m | n p S Code size PABT [Kg]
10 95|54 |762(794| * [11,1123,8/52,4/82,6 82,5(105,5/ 35 | 8,4 |75 30 BA-320| 10 12" 4,2
20 |20,6(71,5[101,5(102,4/ 0,9 |12,7|28,6| 89 (1015 101,5/ 130 | 45 |10,5| 10 46 BA-520 | 20 1" 55
Mounting surface VERSIONS
1SO 6263: 1999 Mounting surface Va ¢
h 06-07-0- /a
(without port L) 1SO 6263-06-07-0-97 i\ BA-322 and BA-522:
- version without drain port L;
% - see the figure on the left and dimensional tables.
U] I‘ eT & A -
Mounting surface
1 1SO 6263-07-11-0-97 ’Lﬁl
=|

Tightening torque = 70 Nm on
: @ Blade . Ports (GAS) | Mass
size A|/B|D|E|F|G|H|M|N | m | n p S Code size PABT [Ka]
10 3,2| 19|57 |762|794| 95 (23,8/73,8/826 82,5(105,5 35 | 8,4 7,5 30 BA-322| 10 1/2" 39
20 0,8123,8(77,8|101,6(102,4102,4)28,6|88,9|101,6 101,5/ 130 | 45 |10,5| 10 46 BA-522 | 20 1" 52
2| MODULAR SUBPLATES
BA-243 / / 30 / * - * / *

. ' Synthetic fluids:
BA-243: for ISO 4401 size 06 valves ‘ WG = water glycol
Number of intermediate elements type BA-***/A PE= phosphoric esters
Closing element: Optional:

T =BA-*™T BT = BA-"*/BT suffix for directional valve for venting, see table C045
Basic element:
A = Intermediate element Optional:

B = BA/B
M = BA-"*/M
MP = BA-*/MP/**

Version with directional valve for venting:
10 =1 setting; venting with de-energized solenoid

V = with setting adjustment by handwheel (only for versions /M and /MP)

Calibration range
for BA-243/M: 100, 210, 350
for BA-243/MP: 15, 75, 150, 250

BA-243/B
G1/2 G172

OB

1

1
7.1 385, ‘295 930
10

~
]

G 38
0255 |\ @30 G2

< e
Pl = 1

50 |

BA-243/M/***

95

.
8 \f ) (A —
A\~ AN .

'
! T2 a3s | 29| \065
S‘ Alzs

w
)

I1ISO 4401 size 06  For the valve connection surface (BA-243/A), see figure on side 1
but without ports X and Y (ISO 4401-03-02-0-05)

G1/4”

Subplate | Tie-rod UNIT ELEMENTS
BA-243/T BA-243/1| M8x80 BA-243/B: basic element with 1/2" P and T
BA-243/2 | M8x138 | | ports on the base, rear ports with P 3/8” and T
1/2".
BA-243/3 | M8x186 !
;%I BA-243/4 | Mexasa | |BA-248/M/***: basic element with double
stage pressure relief valve; base and rear P
085 BA-243/5 | M8x282 | |and T ports 1/2”.

It can be supplied also with handwheel:
BA-243/6 | M8x330 | | BA-243/M/***/V

BA-243/7 | MBX378 | | BA.243/MP: basic element with direct opera-
| BA-243/8 | M8x426 | |ted pressure relief valve; base and rear P and

065 | N T
N 0 ) L A
75285l 32 [3es] ol @ 0255 /275 31275

65

Optional directional valve for venting is shown with dotted line.

Each unit is supplied with appropriate caps, O-rings and tie rods as indicated in the table on the right
For all tie rods : M8x*** tightening torque = 22 Nm

T ports 1/2”".
\—I% BA-243/9 | M8x474 | |It can be supplied also with handwheel:

_ rkk
BA-243/10| M8x522 BA-243/MP/™*IV

BA-243/A: intermediate element for ISO 4401
size 06 valves assembly; rear 3/8” A and B

BA-243/BT ports.
G

G1/2” 1/ BA-243/T: closing element with 1/4” mano-

meter port.

BA-243/BT: terminal element with 1/2” P and
T ports on top side, rear 3/8" P and 1/2" T

s Jolms] Lus ports.
L m |

G2 ew G
°

T

os | HE”

R

R

5. ‘345 32, [255 ﬂé
\_0255

FUNCTIONAL LIMITS

— units BA-243 are designed to stack a
maximum of 10 intermediate (/A) elements

- Qmax on uses A-B = 70 I/min

- Qmax on lines P-T = 100 I/min

— Pmax up to 4 elements = 350 bars

— Pmax 5 to 10 elements = 250 bars

03/09




